NUMBER SYSTEM (HCF)
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H CF (Highest Common Factor )
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What is HCF?
How to find HCF?

Example:
Find the Greatest number N which can

divide 10 and 157




Let N be the Greatest number which when divide a, b and c leaves...

No Remainder Having Some Remainder

P
Type-1:

Same Remainder
N =HCF(a,bandc)

/\ Different Remainder (Let 1y, 1, 13)

known Remainder (Let r) Unknown Remainder
Type-2: Type-3: Type-4:
N=HCF (or, b-r and o) N = HCF (a-b, b-c and c-a) N = HCF (a-r; , b-1; and c- 13)
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No Remainder
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N =HCF (a, band c)



CLASS EXERCISE
Find the largest number WhICh can leld#’%@
exactly? 98 Wad 3@,&
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CLASS EXERCISE

Find the max Number of students whom \
can be divided in such a way that each stufe
of pens and pencils? 3+ S Bt
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Milkman has 75-litres milk in one cane and 45-liters in another cane..
find the maximum capacity of the container which can measure milk

of either container exactly? frepaa & U U & H 75 dtex
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Two Pipe of length 1.5 m_and 1.2 M age to be cut into equal pieces
without leaving any extra le the piece. The largest length of the

pipe piece of the same size can be cut from these two pipes? 1.5 Hiew
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) 0.14 ii) 0.17 iii) 0.13
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known Remainder (Let U! ¢
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Type-2:
N = HCF (a-r, b-r and c-r)




known Remainder (Let r)
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Type-2:
N = HCF (a-r, b-r and c-r)




Find the greatest number Wthh can divide
to leave a remainde, ach Case, de s
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N = HCF (a-b, b-c and c-a)



_ CLASS EXERCISE_ e

Find the largest number which will dwnde 206, 368 449 leaves
the same remainder in@ach case :

PIoTQ il 206, 368, 4
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) 51 i) 9




' EXERCISE
Let N be the largest number that will divide 1305, 4665 and 6€

!
leaving the same remainder in each case find thef digits of N ?

= N T 91 TS&IT & ST 1305, 4665 ST BI05 <
faurorg 3l ok e fRUfa & I8 9 T3, N & 31 BT

RT JTd HieIE?
i) 4 ii) 8 iii) 36 / y) 12 / X

;
= Rep| 3340 1 qqu0.) S¢0°
S -

Q\'M?







Type-4

Different Remainder (Let ry, 15, 13)
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N = HCF (a-ry , b- 1, and c- 13)



What will be th@umber that will divide 307 and 303 leaving

the remainder 3 and 7? agma@mw'ﬁﬂ ST 307 3R
303 &I fauTiord #31 W A9 3 3R 7 SIS M7
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CLASS EXERCISE

What will be the greatest number that will divide

411,684 and 821 and leaves remainder 3, 4 and 5

respectively? I8 TaQ 981 WEIT T g1t Foraa

;_1&1,684 aﬁ{ram B! YIT 31 U AT 3,4 3R 5 Y
"

) 254 i) 146
N)204\\{ - HJ((UIO g 660, 1§




ADVANCED BOOK ASSIGNMENT QUESTION

QUESTION NO:
13,18,21,36,40,52,53,54,62,64,75,



